

المادة : الرياضيات	5
الشعبة : ع. د	3 :

:

:

$$\left. \begin{aligned} 6-8- &=^2(\beta +\alpha): & \beta & \alpha & -1 \\ (3- 1)= &(\beta \alpha) \\ \vee & \\ (3 1-)= &(\beta \alpha) \end{aligned} \right\} : \left. \begin{aligned} 8--^2\beta-^2\alpha \\ 3--\beta\alpha \\ 10=^2\beta+^2\alpha \end{aligned} \right\}$$

$$- 1 = _1 : \Delta$$

(1)

$$6 - 8 - = \partial 4 - ^2 = \Delta : (2)$$

$$\cdot 3+ 1- = _2 \quad 3$$

$$\left. \begin{aligned} 2= _1 \\ -1= _2 \end{aligned} \right\} : \left. \begin{aligned} 2= (_1 - +1) \frac{1}{2} = \\ -1= (_1 + +1) \frac{1}{2} = \end{aligned} \right\} :$$

$$\left[\frac{\pi}{2} \quad 2 \right] 2= _1 : \left[\frac{\pi}{2} \quad + \frac{\pi}{2} \quad \right] 2= _1 :$$

$$\left[\frac{\pi 7}{4} \quad + \frac{\pi 7}{4} \right] \bar{2} \bar{2} = \left[\frac{\bar{2} \bar{2}}{2} - \frac{\bar{2} \bar{2}}{2} \right] \bar{2} \bar{2} = _2$$

$$\left[\left(\frac{\pi}{4} - \right) \quad + \left(\frac{\pi}{4} - \right) \right] \bar{2} \bar{2} = _2 :$$

$$\cdot \quad (_1) \quad \aleph$$

$$\cdot (0 = \frac{\pi}{2}) \Leftrightarrow (_1) :$$

$$\cdot \aleph \ni \pi + \frac{\pi}{2} = \frac{\pi}{2} \Leftrightarrow$$

$$\cdot \aleph \ni 1 + _2 = :$$

:

$$\left. \begin{aligned} \partial = \partial \\ = \\ 1 = \wedge \partial \end{aligned} \right\} :$$

$$77 \ni 77 = (1 - \partial) \Leftrightarrow 77 = - :$$

المادة : الرياضيات	5
الشعبة : ع.د	3 :

: (د) { 77 11 7 1 } = 77 :
 .(159 77) (88 11) (28 21) (84 7) (13 6) (26 3) (39 2) (78 1)

:
 $] \infty + 2 [\cup] 2 - \infty - [= :$
 $() = (4 - 2) = [4 - 2 (-)] = (-)$
 $. (4 - 2) = ()$
 :

$] \infty + 2 [= 1 :$

$\infty + = ()$ $\infty - = ()$

$] \infty + 2 [\exists : 0 < \frac{2}{4 - 2} = : 1 \exists \forall$

1

$\infty +$	2	
	+	()
$\infty +$	$\infty -$	()

: (+) ()

: 0 = () = :

$1 = 4 - 2 \Leftrightarrow 1 = (4 - 2)$

(0 5-) (0 5) د () () 5- = 5 =

$+ 0 = \frac{2}{\infty +} \frac{\left(\frac{4}{2} - 1\right)^2}{\infty +} = \frac{()}{\infty +} :$

: ($\infty +$) ()

$\infty - = ()$: 2 =